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COOCH BEHAR PANCHANAN BARMA UNIVERSITY 

B.A. Programme 6th Semester Examinations, 2022 
Under Revised and Old Syllabus 

ECONOMICS 

DSE-2 (GROUP-2) 
Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
All symbols are of usual significance. 

 Backlog students may attempt either ‘Basic Statistics’ or ‘Emerging Issues in 
Area of Economics ’. But ‘Basic Statistics’ is the only option for regular 

students.  

 BASIC STATISTICS 

 GROUP-A / িবভাগ-ক

1. Answer any ten of the following questions: 

িনmিলিখত �য-�কান দশিট  pেűর উtর দাওঃ 
1×10 = 10

(a) Define an attribute. 

gণেকর সংjা দাও। 
(b) What do you mean by Bar Diagram? 

দčিচt বলেত িক �বাঝ ? 
(c) What do you mean by variable? 

Variable বলেত িক �বাঝ ? 
(d) Define Secondary Data. 

অpাথিমক রািশতেথয্র সংjা দাও। 
(e) If all observations are increased by K times, what will be the effect on AM? 

সকল রািশতেথয্র মান K gণ বৃিd �পেল গািণিতক গেড়র ওপর িক pভাব পড়েব ? 
(f) Calculate the range from the following data: 

িনেmর রািশতথয্ �থেক pসার িনণ�য় করঃ 
5, 7, 9, 14, 19, 25, 28, 35, 48. 

(g) What is the relation among Mean, Median and Mode? 

গড়, মধয্মা এবং সংখয্াgr মােনর মেধয্ সmক�িট িক ? 
(h) Define Class Mark. 

�Ëণীিচেhর সংjা দাও। 
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(i) What are Class Boundaries? 

�Ëণীপিরিধ িক ? 
(j) State two properties of AM. 

গািণিতক গেড়র dিট ৈবিশŶয্ উেlখ কর। 
(k) Mention two different methods for the collection of Primary Data. 

pাথিমক রািশতথয্ সংgেহর dিট িভn পdিতর উেlখ কর। 
(l) State two advantages of Standard Deviation (SD). 

pমাণ পাথ�কয্র dিট সুিবধা উেlখ কর। 
(m) Define Mode. 

সংখয্াgr মােনর সংjা দাও। 
(n) What do you mean by ‘mid value’ of a class? 

�কান  �Ëণীর মধয্িবn ু বলেত িক �বাঝ ? 

(o) Find the Median of the following data: 

িনেmর রািশতথয্ �থেক মধয্মা িনণ�য় করঃ 

22, 7, 14, 10, 18 
  

 GROUP-B / িবভাগ-খ

2. Answer any one of the following questions: 

িনmিলিখত �য-�কান একিট  pেűর উtর দাওঃ 
5×1 = 5

(a) What are the various steps to construct a frequency distribution from unclassified 
data? 

অেËণীবd রািশতথয্ �থেক পিরসংখয্া িবভাজন গঠন করার জনয্ িক িক পdিত gহণ করা হয় ? 

5

(b) Define Range and Quartile with suitable example. 

উপযুk উদাহরণসহ pসার এবং চtথ�ক-এর সংjা দাও। 

5

(c) Write down the advantages and disadvantages of Sample Survey. 

নমুনা সমীkার সুিবধা ও অসুিবধাgিল �লখ। 
5

  

 GROUP-C / িবভাগ-গ

 Answer any one of the following questions 

িনmিলিখত েয-েকান একিট  pেűর উtর দাও 
10×1 = 10

3. Draw both more than type and less than type Ogive from the following frequency 
distribution: 

10

Wages (Rs.) 50-59 60-69 70-79 80-89 90-99 100-109 110-119 

No. of employees 8 10 16 14 10 5 2 
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 িনmিলিখত পিরসংখয্া িবভাজন �থেক উপর �থেক নীেচ এবং নীচ �থেক উপের উভয় pকার ওজাইভ 
অìন করঃ 

মজুির (টাকা) 50-59 60-69 70-79 80-89 90-99 100-109 110-119 

কম�ীসংখয্া 8 10 16 14 10 5 2 
 

4. The G.M., H.M. and A.M. of three observations are 3.63, 3.27 and 4 respectively. 
Find the observations. 

িতনিট সংখয্ার G.M., H.M. এবং A.M. হল যথাkেম 3.63, 3.27 এবং 4। সংখয্া িতনিট িক িক ? 

10

5. Calculate the coefficient of correlation for the ages of Husband and Wife: 

Age of Husband 23 27 28 29 30 31 33 35 36 39 

Age of Wife 18 22 23 24 25 26 28 29 30 32 
 

10

 sামী ও stী-র বয়েসর মেধয্ পারsিরক সmেক�র সহগ িনণ�য় করঃ 
sামীর বয়সঃ 23 27 28 29 30 31 33 35 36 39 

stীর বয়সঃ 18 22 23 24 25 26 28 29 30 32 
 

  

 GROUP-D / িবভাগ-ঘ
 Answer any one of the following questions 

িনmিলিখত েয-েকান একিট  pেűর উtর দাও 
15×1 = 15

6. Calculate A.M., S.D. and Mean Deviation about the Median from the following 
data: 

Scores 4-6 7-9 10-12 13-15 16-18 19-21 Total 

Frequency 4 10 20 15 8 3 60 
 

5+5+5

 িনেmর রািশতথয্ �থেক গািণিতক গড়, pমাণ পাথ�কয্ এবং মধয্মা �থেক গড় পাথ�কয্ িনণ�য় করঃ 
নmরঃ 4-6 7-9 10-12 13-15 16-18 19-21 Total 

পিরসংখয্াঃ 4 10 20 15 8 3 60 
 

7. Compute Standard Deviation from the following distribution of marks obtained 
by 90 students: 

Marks  20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99 

No. of Students 5 12 15 20 18 10 6 4 
 

15

 িনেmর রািশতেথয্ ৯০ জন ছােtর pাp নmর �থেক pমাণ পাথ�কয্ িনণ�য় করঃ 
নmরঃ 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99 

ছাt সংখয্াঃ 5 12 15 20 18 10 6 4 
 

8. Discuss the various measures of dispersion. 

Dispersion-এর িবিভn পিরমাপ পdিতgেলা �লখ। 

15
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 OR  

 EMERGING ISSUES IN AREA OF ECONOMICS 

 GROUP-A / িবভাগ-ক
1. Answer any ten of the following questions: 

িনmিলিখত �য-�কান দশিট  pেűর উtর দাওঃ 
1×10 = 10

(a) What do you mean by economic plan? 

অথ�ৈনিতক পিরকlনা বলেত িক �বাঝ ? 
(b) What is non-renewable resources? 

অ-নবীকরণেযাগয্ সmদ বলেত িক �বাঝ ? 
(c) Write one example of renewable resource. 

একিট নবীকরণেযাগয্ সmেদর উদাহরণ দাও। 
(d) What is the full form of WHO? 

WHO-এর পুেরা নাম িক ? 
(e) What is the full form of GDP? 

GDP-এর পুেরা নাম িক ? 
(f) What is the full form of MDGs? 

MDGs-এর পুেরা নাম �লখ। 
(g) What do you mean by Carbon Credit? 

‘Carbon Credit’ বলেত িক �বাঝ ? 
(h) What is economic development? 

অথ�ৈনিতক উnয়ন বলেত িক �বাঝ ? 
(i) Define the term sustainable development. 

Sustainable উnয়ন বলেত িক �বাঝ ? 
(j) NRHM stands for what? 

NRHM-এর পুেরা নাম �লখ।  
(k) Write one solution for global warming. 

িবƬ উŹায়ন pিতেরােধর একিট উপায় �লখ। 
(l) Write one example of non-renewable resource. 

একিট অ-নবীকরণেযাগয্ সmেদর উদাহরণ দাও। 
(m) What is the full form of CDM? 

CDM-এর পুেরা নাম িক ? 
(n) What is global warming? 

িবƬ উŹায়ন িক ? 
(o) Do you think the term “Gender” socially construct? 

tিম িক মেন কেরা “Gender” সামািজকভােব ৈতরী ? 
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 GROUP-B / িবভাগ-খ
2. Answer any one of the following questions: 

িনmিলিখত �য-�কান একিট  pেűর উtর দাওঃ 
5×1 = 5

(a) Write the objectives of ‘National Health Policy’. 

জাতীয় sাsয্নীিতর উেdশয্ �লখ। 
(b) Write short note on “Carbon Credit”. 

“Carbon Credit”-এর উপর টীকা �লখ। 
(c) Write five causes of global warming. 

িবƬ উŹায়েনর পাঁচিট কারণ �লখ। 
  

 GROUP-C / িবভাগ-গ
 Answer any one of the following questions 

িনmিলিখত েয-েকান একিট  pেűর উtর দাও 
10×1 = 10

3. Explain the features, objectives of MDGs. 

MDGs-এর ৈবিশŶয্ ও উেdশয্gেলা আেলাচনা কর। 
10

4. Discuss few major contribution of Indian women in economic development. 

অথ�ৈনিতক উnয়েন ভারতীয় মিহলােদর অবদান আেলাচনা কর। 

10

5. Explain the significance of non-renewable resources in Indian economy. 

ভারতীয় অথ�নীিতেত অ-নবীকরণেযাগয্ সmেদর তাৎপয� আেলাচনা কর। 
10

  

 GROUP-D / িবভাগ-ঘ
 Answer any one of the following questions 

িনmিলিখত েয-েকান একিট  pেűর উtর দাও 
15×1 = 15

6. Define sustainable development. What are its objectives? 

Sustainable উnয়েনর সংjা দাও। Sustainable উnয়েনর উেdশয্gেলা িক িক ? 

15

7. What do you mean by ‘Women Empowerment’? Do you think that women 
empowerment is urgent for development of a country? 

নারীর kমতায়ন বলেত িক �বাঝ ? tিম িক মেন কেরা �দেশর উnয়েনর জনয্ নারীর kমতায়ন 
জrরী ? 

15

8. Distinguish between renewable and non-renewable resources. Discuss the causes 
of energy crisis. 

নবীকরণেযাগয্ ও অ-নবীকরণেযাগয্ সmেদর পাথ�কয্ কর। ‘Energy crisis’-এর কারণgিল 
িক িক ? 

15

  ——×——  
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